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A OIS0
HM: 20| ZMBSE HASS MEOEIH
oR: MASSoARUIXNE (A2 2SI XL S LHIAH) (3
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
ZOIMEHT| 721,481 695,024 26,457
= 171,623
[= 54,906
= 494,952
20| ZMEBE HASES M 681,952 658,570 23,382
= 149,600
[= 37,400
= 494,952
HASSOSHIXNA (B EBSIZ2ZLHEHSH) 681,952 658,570 23,382
= 149,600
[ 37,400
= 494,952
9220 ©320HIS X 681,952 658,570 23,382
= 149,600
[= 37,400
= 494,952
307 QI2to|A 187,000 167,122 19,878
= 149,600
[= 37,400
01 22224 187,000 167,122 19,878
0 220 (HQ BT, QUHl S)(8,722Y
) 187,000
= 149,600
[= 37,400
308 XXISHHESOIA 472,952 451,948 21,004
05 XXICHHIZ2IREZ 472,952 451,948 21,004
02220 24l 472,952
802 BtEt=2J|E} 22,000 39,500 217,500
01 2DBX3ta=2 2,000 500 1,500
02220 0lX=2¢ 2,000
02 Al - SHIEZZ2Uta2 20,000 39,000 A19,000
0 2H0IS2 &2 22 20,000
HMSAHH (FOUMEX 1) 39,529 36,454 3,075
= 22,023
[= 17,506
olH2HY(Y2BSII2X8EHFH) 27,529 25,454 2,075
= 22,023
[= 5,506
olaidy|(o28s)|2X8EH3|H) 27,529 25,454 2,075
= 22,023
[= 5,506
101 Q14 27,529 25,454 2,075
= 22,023
[= 5,506
03 RIHA2ZXE S 27,529 25,454 2,075




DA FOIMET A
H: HNRHAH| (M)
CHe: QIESAY| (Y2 ESII2ZLHEEFA) (o™ a
SH-EFHHA(FA) - NIRAE - BES O Ak OH glggi; HusZ
0 2 SHBCIAF Q1A (1Y) 27,529
= 22,023
(= 5,506
JI2AH(A2ESIIZXZLHESSH) 12,000 11,000 1,000
(= 12,000
2R (285 II2EHEE3H) 12,000 11,000 1,000
< 12,000
201 LerRgy| 5,000 5,000 0
< 5,000
01 AFRZ2ld 5,000 5,000 0
0 Let==H| 3,880
(= 3,880
0 RIS 1,120
< 1,120
202 O4H] 7,000 6,000 1,000
< 7,000
01 2LH0iH 7,000 6,000 1,000
02230 ES0Hl 20,0002 * 2% * 1752 7,000
< 7,000




